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FE AR = 1 85,000
A B = E BN TE IR EURRR R4t E 1 363,829
HEHRBRE E R RIE A E 101,400
B E e fOGEIE IR T2 = 1 521,781
HHHE T =z 1 78,000
LR =80 B e =z 1 371,000
LA R =S R 24 T2 = 1 85,000
ST = 1 270,000
A = 1 100,000
L o ISV e = 1 98,000
=R = 1 54,000
SRR I E B = 1 278,990
RINR AT =z 1 305,000
ST EZ IR RS =z 1 260,000
TN =z 1 85,000
T2 HUKE = 1 95,000
R RFZ RS = 1 90,000
UM iE Y = 1 98,000
A KR E B =z 1 86,000
5T E EUGEERIT 24 = 1 320,000
BB G A4 = 1 113,000
PR 1RSSR = 1 79,500
E R 2B TR =4 1 2,000,000
JENTERR & B R TS5 BT sl = 1 3,450,000
= RIS AT E A 4 1 66,600
MEEERRITER =4 1 400,000
L 2 B A B R SR AT SR =z 5 61,600
AP35 H B R 5 | El 1% =4 1 62,000
TEI G = = 1 57,430
B AR CREAR) = 1 50,000
i = 1 98,000
e Hifi 1 53,991
e L 1 53,991
JE R [ E T S e b JE A = 1 449,179
2RI = 1 170,000
LI R Etk =z 1 230,000
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% T B i & HECOD)
Hifir s Ek = 1 189,000
Ex=E AR = 1 90,000
Rt = 1 60,000
R =z 1 77,000
HEA S Rk = 1 65,888
SRR = 1 80,000
SHEE iR P = 1 82,100
S = 1 55,700
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